38314 Range Road 281 Red Deer County, Alberta, T4E 1X8 (587) 802 - 8811



Invoice: INV-S-318

Issue date: Jul 23, 2025 Due date: Aug 22, 2025

Bill To

Black Hand Transport Inc

Remit payment to

Quick Shift Heavy Duty Mechanical 38314 Range Road 281 Red Deer County, Alberta T4E 1X8 (587) 802 - 8811

Unit	Vin	Vehicle	Milea	ge	Eng Hrs
BHT007	1XPXD49X0AD105172	2010 Peterbilt 389L	1,965,8	354	44,190
Service Order	Terms	Due date	Custo	mer PO	Authorizer
S-318	Net 30	Aug 22, 2025	BH	Т007	
Description			Quantity	Rate	Amount
CHECK 5TH WHEEL					
CHECKED 5TH WHE	EL FOR DAMAGE , REQUIRES RI	EBUILD KIT.	0.25	\$110.00	\$27.50
				Parts Total	\$0.00
				Labor Total	\$27.50
				Line Total	\$27.50
REPLACE 5TH WHE	EL PART AND ADJUST				
ADJUSTMENT ROD	BENT		0.75	\$110.00	\$82.50
SAFRK351AL - HOL	LAND 5TH WHEEL REBUILD KI	Т	1	\$745.61	\$745.61
				Parts Total	\$745.61
				Labor Total	\$82.50
				Line Total	\$828.11
				Labor	\$110.00
				Parts	\$745.61
			Sho	p supplies	\$5.50
				Subtotal	\$861.11
				GST (5%)	\$43.07
				Total	\$904.18
				Payments Balance	\$904.18
				Dataille	2204.10

38314 Range Road 281 Red Deer County, Alberta, T4E 1X8 (587) 802 - 8811



Invoice: INV-S-299 Issue date: Jul 14, 2025

Due date: Aug 13, 2025

Bill To

Black Hand Transport Inc

Remit payment to

Quick Shift Heavy Duty Mechanical 38314 Range Road 281 Red Deer County, Alberta T4E 1X8 (587) 802 - 8811

Unit	Vin	Vehicle	Mileage	Eng Hrs
ВНТ007	1XPXD49X0AD105172	2010 Peterbilt 389L	1,965,396	44,182
Service Order	Terms	Due date	Customer PO	Authorizer
S-299	Net 30	Aug 13, 2025	BHT007	

Description Quantity Rate Amount

TRUCK RUNNING ROUGH DIAGNOSE

CHECKED UNIT OUTSIDE FOR ROUGH RUNNING ENGINE. REPLACED LEAKING FRONT COVER PLUG THAT WAS LEAKING. BRING UNIT INSIDE AND UNIT NOW RUNNING SMOOTHLY **HOOK UP LAPTOP AND FOUND INACTIVE CODES:**

2311: ELECTRONIC FUEL INJECTION CONTROL VALVE CIRCUIT - CONDITION **EXISTS**

0553: INJECTOR METERING RAIL 1 PRESSURE

0272: ENGINE FUEL PUMP PRESSURIZING ASSEMBLY 1 CURCUIT SHORTED

TO HIGH

START BY CHECKING ELECTRICAL PLUG AT COMMON RAIL PRESSURE SENSOR. REMOVE LOOM OFF SENSOR PIGTAIL AND FOUND WIRING DAMAGED AT SENSOR END / LOOSE BODY ON SENSOR. REMOVE ZIP TIES AND PIGTAIL FROM FUEL PUMP SOLENOID. REMOVED FUEL PUMP SOLENOID FROM BACK OF PUMP AND TEST USING MULTIMETER. FOUND SOLENOID RESISTANCE JUMPING FROM 4 OHMS TO 200 OHMS WHEN YOU WIGGLE SOLENOID. ORDER NEW RAIL PRESSURE SENSOR AND FUEL PUMP SOLENOID.

INSTALLED NEW PUMP SOLENOID AND COMMON RAIL SENSOR. RUN UNIT AND CHECK VOLTAGES / COMMANDS FOR FUEL SYETEM INCLUDING COMMANDED AND ACTUAL FUEL PRESSURE, REV UP ENGINE THROUGH FULL RPM RANGE AND FOUND COMMANDED AND ACTUAL FUEL PSI RANGE MATCHING WITHOUT PRESSURE DROPS. 3 \$100.00 \$300.00 3688113 - CUMMINS GEAR COVER PLUG 1 \$21.02 \$21.02 2897581 - COMMON FUEL RAIL PRESSURE SENSOR FOR CUMMINS ISX 1 \$284.04 \$284.04

4307411RX - ELECTRONIC FUEL CONTROL ACTUATOR CUMMINS ISX ENGINE	1	\$473.62	\$473.62
		Parts Total	\$778.68
		Labor Total	\$300.00
		Line Total	\$1,078.68
CHECK CLUTCH BRAKE REMOVE COVER AND CHECK CLUTCH BRAKE. ADJUST CLUTCH AND GREASE			
RELEASE BEARING	0.5	\$100.00	\$50.00
		Parts Total	\$0.00
		Labor Total	\$50.00
		Line Total	\$50.00
		Labor	\$350.00
		Parts	\$778.68
	S	hop supplies	\$17.50
		Subtotal	\$1,146.18
		GST (5%)	\$57.31
		Total	\$1,203.49
		Payments	
		Balance	\$1,203.49
Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agre expressed in writing. You hereby authorize us to perform the repair work herein set forth and to purchase the neck You agree that we are not responsible for loss or damage to your vehicle or articles left in your vehicle in case of f delays caused by unavailability of parts or delays in part shipments by the supplier or transporter. In addition, you vehicle from freezing due to lack of antifreeze. You hereby grant our employees permission to operate your vehicle testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is granted to detailed in this invoice.	essary material a ire, theft, or any agree that we on streets, high	and parts to perform suc other cause beyond our are not responsible for d aways, or elsewhere for	ch repair work. control or for any lamages to your the purpose of
Customer signature:			
Printed name: Dat	:e:		

Software Powered by ShopView

783511140 RT0001

Vin

38314 Range Road 281 Red Deer County, Alberta, T4E 1X8 (587) 802 - 8811



Vehicle

Invoice: INV-S-286 Issue date: Jul 11, 2025

Due date: Aug 10, 2025

Bill To

Black Hand Transport Inc

Unit

Remit payment to

Ena Hrs

Quick Shift Heavy Duty Mechanical 38314 Range Road 281 Red Deer County, Alberta T4E 1X8 (587) 802 - 8811

Mileage

Onit	Vin	venicle	Milea	age	Eng Hrs
BHT007	1XPXD49X0AD105172	2010 Peterbilt 389L	1,962	,659	44,132
Service Order	Terms	Due date	Custo	omer PO	Authorizer
S-286	Net 30	Aug 10, 2025	B⊦	HT007	Stant A a foot in what provides a page manage by the contract of the contract
Description			Quantity	Rate	Amount
SERVICE/INSPECT/G	REASE TRUCK				
INSPECT, SERVICE 8	GREASE TRUCK				
TAKE OUT HL003 AN	ND BRING IN UNIT 007		2	\$100.00	\$200.00
				Parts Total	\$0.00
				Labor Total	\$200.00
				Line Total	\$200.00
REPLACE DRIVE AX	LE #2 P.S. BRAKE POT				
INTERNAL LEAK					
REMOVED OLD LEAK	CY BRAKE POT, GRABBED	NEW ONE, RECLOCK NEW			
BRAKE POT, CUT RO	D TO LENGHT, INSTALL B	RAKE POT, TRANSFER AIR			
		ROKE, RESET SLACK ADJUSTER	1	\$100.00	•
	•	ersal Cut to Fit 8" Rod No Yoke)	1	\$39.11	\$39.11
Brake Chamber- Ser	vice/Parking, Rear Drum.				
,				Parts Total	
				Labor Total	
				Line Total	\$139.11
REPAIR DRIVE AXLE	#2 D.S. STROKE / SLACK				
AUTO SLACK ADJUS	STER NOT SET PROPERLY	•	0.25	\$100.00	\$25.00
				Parts Total	\$0.00
				Labor Total	\$25.00
				Line Total	\$25.00
ADJUST CLUTCH					
CLUTCH OUT OF AD	JUSTMENT				
ADJUSTED CLUTCH	GAP		0.5	\$100.00	\$50.00
				Parts Total	\$0.00
783511140 RT0001	\$	Software Powered by ShopView			Page 1 of

		Labor Total	\$50.00
		Line Total	\$50.00
LUBE SHOCKER PASS VALVE			
BINDS WHEN TRYING TO USE IT / NOT FUNCTIONING PROPERLY			
SPRAYED LITHIUM GREASE ALL OVER, TESTED	0.25	\$100.00	\$25.00
		Parts Total	\$0.00
		Labor Total	\$25.00
		Line Total	\$25.00
RECONNECTED 5TH SLIDER AIR HOSE			
DISCONNECTED, SITTING LOOSE BY DRIVE YOKE	0.1	\$100.00	\$10.00
		Parts Total	\$0.00
		Labor Total	\$10.00
		Line Total	\$10.00
REPAIR #2 DRIVE AXLE D.S. ABS MODULATOR			
BYPASSING	0	\$100.00	\$0.00
		Parts Total	\$0.00
		Labor Total	\$0.00
		Line Total	\$0.00
		Labor	\$410.00
		Parts	\$39.11
	Sł	op supplies	\$20.50
		Subtotal	\$469.61
		GST (5%)	\$23.49
		Total	\$493.10
		Payments	
		Balance	\$493.10

Any warranties on the parts and accessories sold hereby are made by the manufacturer. You understand and agree that we make no warranties of any kind unless expressed in writing. You hereby authorize us to perform the repair work herein set forth and to purchase the necessary material and parts to perform such repair work. You agree that we are not responsible for loss or damage to your vehicle or articles left in your vehicle in case of fire, theft, or any other cause beyond our control or for any delays caused by unavailability of parts or delays in part shipments by the supplier or transporter. In addition, you agree that we are not responsible for damages to your vehicle from freezing due to lack of antifreeze. You hereby grant our employees permission to operate your vehicle on streets, highways, or elsewhere for the purpose of testing and/or inspection. You acknowledge and agree that an express mechanic's lien on your vehicle is granted to secure payment of this invoice for the repair work detailed in this invoice.

Customer signature:	
Printed name:	Date:

783511140 RT0001

Software Powered by ShopView

Vin

38314 Range Road 281 Red Deer County, Alberta, T4E 1X8 (587) 802 - 8811



Vehicle

Invoice: INV-S-280

Issue date: Jul 5, 2025 Due date: Aug 4, 2025

Bill To

Unit

Black Hand Transport Inc 38314 Range Road 281 Red Deer County, Alberta T4E 1X8

Remit payment to

Eng Hrs

Quick Shift Heavy Duty Mechanical 38314 Range Road 281 Red Deer County, Alberta T4E 1X8 (587) 802 - 8811

Mileage

ВНТ007	1XPXD49X0AD105172	2010 Peterbilt 389L	1,965,3	96	44,182
Service Order	Terms	Due date	Custo	mer PO	Authorizer
S-280	Net 30	Aug 4, 2025	BH1	Г007	
Description			Quantity	Rate	Amount
REMOVED AND REF (WARRANTY - ORIG	ATOR (WEEKEND) OWS LOW VOLTAGE/REPLACE PLACED ALTERNATOR - SATURD SINAL ALTERNATOR P/N 135140 5100) (REPLACEMENT ALTERNA	AY CALL OUT - CAME FROM GLOVERS			
COVERED VIA WAR	• •	101(11() 445057	3	\$100.00	\$300.00
FLTAL136170P - AL	TERNATOR		1	\$0.00	\$0.00
				Parts Total	\$0.00
				Labor Total	\$300.00
				Line Total	\$300.00
				Labor	\$300.00
				Parts	\$0.00
			Shop	supplies	\$15.00
				Subtotal	\$315.00
				GST (5%)	\$15.75
				Total	\$330.75
				Payments	•
				Balance	\$330.75

: ,.		
	•	
		VIN
	Customer Date	VIIV
400	Engine 2.3	
Odometer Hours	328592 Hours 23565	Parts company and In
110413	Ding - Engine Them mod on #	3
	- range Faile & Trans	19
	- remove Engine? Trans from Doner thus	* /
	* rused Engine Plion to wishell	
	Stone Muin Rear Min Rear Structur	e
	AP fuel fum Tronsfer Pure fair	
	Swap required components to fit	007
	Motor Mounte, Water plumbing	
	- Remove Emssions	
	- install PDI	
	Firstell Engine into Foot	
	sup Reguleed Trong Parts	
	istall Pyro, A: R Plumbing	
	Tous and to truck tak for Han	es and Del
	- Truck Buck - will Not go into your	
	•	
	repair slave pin in trans	
	- clean up wiking suel phining	
	- repair small court larks as Rea	
	Test Drive OK	
	water in fuel not willed in	
	Repair / ReBuild light Ber hornes	had light
	- Aux light horners green	
	Rewille Both Emage Ost MOVIOUS	Date Completed